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1. The point of intersection of the lines 
𝑥 − 5

3
=

𝑦 − 7

−1
=

𝑧 + 2

1
,
𝑥 + 3

−36
=

𝑦 − 3

2
=

𝑧 − 6

4
  

is 

 a) (2, 10, −4) b) (21,
5

3
,

10

3
) c) (5, −7, −2) d) (−3,3,6) 

 

2. If the position vectors of the points 𝐴 and 𝐵 are 3𝑖̂ + 𝑗̂ + 2𝑘̂ and 𝑖̂ − 2𝑗̂ − 4𝑘̂ respectively, then the 
equation of the plane through 𝐵 and perpendicular to 𝐴𝐵 is 
 a) 2𝑥 + 3𝑦 + 6𝑧 + 28 = 0 
 b) 3𝑥 + 2𝑦 + 6𝑧 = 28 
 c) 2𝑥 − 3𝑦 + 6𝑧 + 28 = 0 
 d) 3𝑥 − 2𝑦 + 6𝑧 = 28 
 
3. The point equidistant from the point (𝑎, 0, 0), (0, 𝑏, 0), (0, 0, 𝑐) ad (0, 0, 0) is 

 a) (
𝑎

3
,

𝑏

3
,

𝑐

3
) b) (𝑎, 𝑏, 𝑐) c) (

𝑎

2
,

𝑏

2
,

𝑐

2
) d) None of these 

 
4. If a plane meets the coordinate axes at 𝐴, 𝐵 and 𝐶 such that the centroid of the triangle is (1,2,4), then 
the equation of the plane is 
 a) 𝑥 + 2𝑦 + 4𝓏 = 12 b) 4𝑥 + 2𝑦 + 𝓏 = 12 c) 𝑥 + 2𝑦 + 4𝓏 = 3 d) 4𝑥 + 2𝑦 + 𝓏 = 3 
 
5. If the coordinates of the vertices of a Δ 𝐴𝐵𝐶 are 𝐴(−1, 3, 2), 𝐵(2, 3, 5) and 𝐶(3, 5, −2), then ∠ 𝐴 is equal 
to 
 a) 45° b) 60° c) 90° d) 30° 
 
6. The distance between the line 

𝐫⃗ = 2𝐢̂ − 2𝐣̂ + 3𝐤̂ + 𝜆(𝐢̂ − 𝐣̂ + 4𝐤̂) and the plane 𝐫⃗ ∙ (𝐢̂ + 5𝐣̂ + 𝐤̂) = 5 is 

 a) 
10

3
 b) 

3

10
 c) 

10

3√3
 d) 

10

9
 

 
7. A point on 𝑋𝑂𝑍- plane divides the join of (5, −3, −2) and (1,2, −2) at 

 a) (
13

5
, 0, −2) 

 b) (
13

5
, 0,2) 

 c) (5,0,2) 
 d) (5,0, −2) 
 
8. A plane makes intercepts −6,3,4 upon the coordinate axes. Then, the length of the perpendicular from 
the origin on it is 

 a) 
2

√29
 b) 

3

√29
 c) 

4

√29
 d) 

12

√29
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9. The equation of the plane counting the lines  
𝑥 − 1

2
=

𝑦 + 1

−1
=

𝑧

3
 and 

𝑥

2
=

𝑦 − 2

−1
=

𝑧 + 1

3
 is 

 a) 8𝑥 − 𝑦 + 5𝑧 − 8 = 0 b) 8𝑥 + 𝑦 − 5𝑧 − 7 = 0 c) 𝑥 − 8𝑦 + 3𝑧 + 6 = 0 d) 8𝑥 + 𝑦 − 5𝑧 + 7 = 0 
 
10. The equation of the plane which bisects the line joining (2, 3,4 ) and (6, 7, 8), is 
 a) 𝑥 − 𝑦 − 𝓏 − 15 = 0 b) 𝑥 − 𝑦 + 𝓏 − 15 = 0 c) 𝑥 + 𝑦 + 𝓏 − 15 = 0 d) 𝑥 + 𝑦 + 𝓏 + 15 = 0 
 
11. The distance between the points (1,4,5) and (2,2,3) is 
 a) 5 b) 4 c) 3 d) 2 
 
12. The equation of the plane through the points (1, 2, 3), (−1, 4, 2)and (3, 1, 1) is  
 a) 5𝑥 + 𝑦 + 12𝑧 − 23 = 0 b) 5𝑥 + 6𝑦 + 2𝑧 − 23 = 0 
 c) 𝑥 + 6𝑦 + 2𝑧 − 13 = 0 d) 𝑥 + 𝑦 + 𝑧 − 13 = 0 
 
13. Equation of the plane parallel to the planes  
𝑥 + 2𝑦 + 3𝑧 − 5 = 0, 𝑥 + 2𝑦 + 3𝑧 − 7 = 0 and equidistant from them is  
 a) 𝑥 + 2𝑦 + 3𝑧 − 6 = 0 b) 𝑥 + 2𝑦 + 3𝑧 − 1 = 0 
 c) 𝑥 + 2𝑦 + 3𝑧 − 8 = 0 d) 𝑥 + 2𝑦 + 3𝑧 − 3 = 0 
 

14. The image of the point (1, 2, 3) in lie 
𝑥

2
=

𝑦−1

3
=

𝓏−1

3
 is 

 a) (1,
5

2
,

5

2
) b) (1,

9

4
,

11

4
) c) (1, 3, 2) d) (3, 1, 2) 

 
15. If 𝑂 is the origin and 𝑂𝑃 = 3 with direction ratios −1, 2, −2, then coordinates of 𝑃 are 
 a) (1, 2, 2) b) (−1, 2, −2) c) (−3, 6, −9) d) (−1/3, 2/3, −2/3) 
 
16. The equation of the sphere touching the three coordinate planes is 
 a) 𝑥2 + 𝑦2 + 𝓏2 + 2𝑎(𝑥 + 𝑦 + 𝓏) + 2𝑎2 = 0 b) 𝑥2 + 𝑦2 + 𝓏2 − 2𝑎(𝑥 + 𝑦 + 𝓏) + 2𝑎2 = 0 
 c) 𝑥2 + 𝑦2 + 𝓏2 ± 2𝑎(𝑥 + 𝑦 + 𝓏) + 2𝑎2 = 0 d) 𝑥2 + 𝑦2 + 𝓏2 ± 2𝑎𝑥 ± 2𝑎𝑦 ± 2𝑎𝓏 + 2𝑎2 = 0 
 

17. The angle between the line 
𝑥

2
=

𝑦

3
=

𝓏

4
 and the plane 3𝑥 + 2𝑦 − 3𝓏 = 4 is 

 a) 45° b) 0° c) cos−1 (
24

√29√22
) d) 90° 

 
18. The equation of a line of intersection of planes  4𝑥 + 4𝑦 − 5𝓏 = 12 and 8𝑥 + 12𝑦 − 13𝓏 = 32 can be 
written as 

 a) 
𝑥−1

2
=

𝑦+2

−3
=

𝓏

4
 b) 

𝑥−1

2
=

𝑦−2

3
=

𝓏

4
 c) 

𝑥

2
=

𝑦+1

3
=

𝓏−2

4
 d) 

𝑥

2
=

𝑦

3
=

𝓏−2

4
 

 
 
 

19. Let the line
𝑥−2

3
=

𝑦−1

−5
=

𝑧+2

2
 lies in the plane 𝑥 + 3𝑦 − α 𝑧 + β = 0 Then (α, β) 

equals  
 
 a) (6, −17) b) (−6, 7) c) (5, −15) d) (−5,15) 
 
20. If a line makes angles α,β,γ and δ with four diagonals of a cube, then the value of sin2α + sin2β +
sin2γ + sin2δ, is 

 a) 
4

3
 b) 

8

3
 c) 

7

3
 d) 1 
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